CJ' doubtnut

India's Number 1 Education App

MATHS

BOOKS - ACCURATE PUBLICATION

INDEFINITE INTEGRALS

1. Evaluate : /(\/3:1: +1— 3z —2)dz.

° Watch Video Solution

2. EvaIuate/ dz
V3dr +2— 43z +1

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qJqaU9YAVSlu
https://dl.doubtnut.com/l/_GnrHLEFS2OdN

dx

3. EvaIuate/
V3rz +5— 43z + 1

o Watch Video Solution

4. Evaluate the following integrals:

/:034 2zdx

o Watch Video Solution

5. Evaluate /sin4 T dx.

o Watch Video Solution



https://dl.doubtnut.com/l/_GnrHLEFS2OdN
https://dl.doubtnut.com/l/_fURImYHplt9L
https://dl.doubtnut.com/l/_UfxnVxXcCXeD
https://dl.doubtnut.com/l/_6roQI4oxmo9w

6. Evaluate the following integrals :

/cos4 x.dx

o Watch Video Solution

dx

etan
7. Evaluate/
1+ x2

° Watch Video Solution

8. Evaluate /sin x sin 2z sin 3xzdx

° Watch Video Solution

dx
9. Evaluate |——8M —
e’ +2e %

° Watch Video Solution



https://dl.doubtnut.com/l/_9F7CSKHhTQPN
https://dl.doubtnut.com/l/_6ei9KG5313fG
https://dl.doubtnut.com/l/_NMwXNiIwx2wX
https://dl.doubtnut.com/l/_yRv8XFt3PioR

dzx
10. Evaluate /—
et +3e~®

o Watch Video Solution

2z 1
11. Evaluate /e *
ez — 1

o Watch Video Solution

— ew
12. Evaluate /'I dx.
1+ e”

° Watch Video Solution

2r 1
13. Evaluate /e dx.
ez +1

| o Wiakt~h \NtAdaA CAliikian


https://dl.doubtnut.com/l/_yRv8XFt3PioR
https://dl.doubtnut.com/l/_YPXDM2viDJoI
https://dl.doubtnut.com/l/_nLs5TeE4fv6r
https://dl.doubtnut.com/l/_z2NZParIvqVR
https://dl.doubtnut.com/l/_Hy3HySZIlirp

| & YVvdilll VIVMGY JVIVIGIVIEE

14. Find /% or /\/E(ﬁ %k

° Watch Video Solution

1
15. Evaluate : /—da:.
Ve —x

o Watch Video Solution

16. Evaluate the following integrals :

1

—dzx
T —

o Watch Video Solution



https://dl.doubtnut.com/l/_Hy3HySZIlirp
https://dl.doubtnut.com/l/_syxep2GbzzS8
https://dl.doubtnut.com/l/_NqtglfHTZvF6
https://dl.doubtnut.com/l/_LRpFmn6HfyWf

17. Evaluate the following integrals:

/1:3\/ 3 + 5xtdr

o Watch Video Solution

18. Evaluate: /(233 + 3)v/z® + 4z + 3dz

o Watch Video Solution

19. Evaluate /(41' +2)v/z? + = + 1dz.

o Watch Video Solution

20. Evaluate the following integrals : /sin2 x cos® zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_woVQbE4qf1qA
https://dl.doubtnut.com/l/_kETWEz6K2CFP
https://dl.doubtnut.com/l/_fUzCwq6ejGip
https://dl.doubtnut.com/l/_2PKGTdRCKq90

21. Evaluate the following integrals : /sin2 x cos? zdzx
o Watch Video Solution
22. Evaluate: /sin3 xdx:
o Watch Video Solution
L sin’
23. Evaluate the following integrals : / dx
COS T
o Watch Video Solution
. cos®
24. Evaluate the following integrals : - dx
sinx

| ° Watch Video Solution


https://dl.doubtnut.com/l/_2PKGTdRCKq90
https://dl.doubtnut.com/l/_5PIIfd3QLS4f
https://dl.doubtnut.com/l/_1KtkWjthybBs
https://dl.doubtnut.com/l/_4FDwODD2P5EC
https://dl.doubtnut.com/l/_faJawshupAZU

25. Evaluate:/ dz .
x?2 — 6x + 13

° Watch Video Solution

dzx
26. Evaluate/
x2 + 6z + 10

o Watch Video Solution

27. Evaluate : / dz .
2¢2 —bx + 7

o Watch Video Solution

dzx
28. EvaIuate:/ .
52 — 102 + 30

| o Wiakt~h \NtAdaA CAliikian


https://dl.doubtnut.com/l/_faJawshupAZU
https://dl.doubtnut.com/l/_azIDkLWbNtm1
https://dl.doubtnut.com/l/_CnwuarHX0N7e
https://dl.doubtnut.com/l/_GmMYctyxr4W0
https://dl.doubtnut.com/l/_jYGmhubwAfLS

| & YVvdilll VIMAGY JVIVGIVIEE

r—1
29, Evaluate : /—dcc.
vr?+1

° Watch Video Solution

— 2
30. Evaluate : /m—dw.

Va2 +4

o Watch Video Solution

-3
31. Evaluate /x—da:
Va2 +9

o Watch Video Solution

sec2 i

32. EvaIuate:/ dx.
Vtan?z + 2tanz + 5

f


https://dl.doubtnut.com/l/_jYGmhubwAfLS
https://dl.doubtnut.com/l/_7fhAjCRYuPZ6
https://dl.doubtnut.com/l/_rCYxm5xh4yhe
https://dl.doubtnut.com/l/_RMsf6pVXO34F
https://dl.doubtnut.com/l/_MSaYN8l7HEV9

_ o Watch Video Solution

2

33. Evaluate: / Sec T dzx.
\/tan2a: + 2tanz + 10

o Watch Video Solution

sec2 i

34. Evaluate :/ dx.
Vtan?z + 2tanz + 17

° Watch Video Solution

35. Compute the following integrals:

sinz
—d
/sin(a: — ) v

° Watch Video Solution



https://dl.doubtnut.com/l/_MSaYN8l7HEV9
https://dl.doubtnut.com/l/_c8oRNIvjVLTL
https://dl.doubtnut.com/l/_L6vzAAPpMKdD
https://dl.doubtnut.com/l/_9vcPBQ4Qz3FQ

36. Find the following integrals

/ COS
— dx
cos(z — a)

o Watch Video Solution

37. Find the following integrals

cos x
|
cos(z + a)

° Watch Video Solution

38. Evaluate /9”5 + 2e " *dzx.

° Watch Video Solution

dx
39. Evaluate [———
e? +3e 7


https://dl.doubtnut.com/l/_iHI8l3Qo80tX
https://dl.doubtnut.com/l/_a3g6nouZ4x8C
https://dl.doubtnut.com/l/_0yuDJsws0Fy3
https://dl.doubtnut.com/l/_yfLxumGDjNfl

o Watch Video Solution

40. Evaluate : dz.

/ 1
V2 — 4z +5

° Watch Video Solution

1
41. Evaluate/ dx.
V2 — 6z + 10

o Watch Video Solution

42. Evaluate : /(w2 + 1)dw.

o Watch Video Solution

242
43.Eva|uate:/w +

dx.
x4 4+ 4



https://dl.doubtnut.com/l/_yfLxumGDjNfl
https://dl.doubtnut.com/l/_J9tHONnpQMvw
https://dl.doubtnut.com/l/_VxegUscvRhYC
https://dl.doubtnut.com/l/_COO8k6eTiHlX
https://dl.doubtnut.com/l/_eAIg4gfFABzJ

o Watch Video Solution

2
4 3
44, Evaluate : / *

dz.
2+ 9 v

o Watch Video Solution

3z — 1
45, Evaluate :/ dx.
V2 + 4z + 9

° Watch Video Solution

46. Evaluate : / fz+3 dzx.
V2 4+ 4z + 11

° Watch Video Solution

5 3
47. Evalute : / Tt dx
V2 4+ 4z + 10



https://dl.doubtnut.com/l/_eAIg4gfFABzJ
https://dl.doubtnut.com/l/_JYsJsLnplxIc
https://dl.doubtnut.com/l/_K8scsmhhSWap
https://dl.doubtnut.com/l/_RvnSpT19GONr
https://dl.doubtnut.com/l/_MRsN1s3mj4Tg

o Watch Video Solution

(3z + 5)dz
48. Evaluate/
x2 —8r + 7

o Watch Video Solution

49, Find / bz + 7 dzx.
vV — 9z + 20

o Watch Video Solution

1—=x
50. Evaluate : /\/ de.
1+ x

o Watch Video Solution



https://dl.doubtnut.com/l/_MRsN1s3mj4Tg
https://dl.doubtnut.com/l/_l3NsmdwqJGrB
https://dl.doubtnut.com/l/_kOkP8dnIPPPg
https://dl.doubtnut.com/l/_BpBGcuRgNWid

2—x
51. Evaluate,/ ( ).dx
2+ x

o Watch Video Solution

3—=x

3T 2 dx.

52. Evaluate, /

o Watch Video Solution

) 4 —x
53.F|nd/ dzx.
4+ zx

° Watch Video Solution

dzx
54. Evaluate dx

cos2x + 2sin’x

o Watch Video Solution



https://dl.doubtnut.com/l/_eE0DFBdLPL1q
https://dl.doubtnut.com/l/_jVNhzRtRhQS8
https://dl.doubtnut.com/l/_tL5OHszs8iHT
https://dl.doubtnut.com/l/_Z40QEMYT5jUF

1
55. Find/ 5 dx
4sin“ x + Hcos? x

o Watch Video Solution

56. Evaluate the following integrals :

1
/ 5 dx
sin“x + 4cos? x

o Watch Video Solution

d
57. Integrate the following functions : /—a:
2 4 sin’ z

o Watch Video Solution

) dx
58. Find /—
3 +cos?z

f _


https://dl.doubtnut.com/l/_Z40QEMYT5jUF
https://dl.doubtnut.com/l/_siMixM5KZ2Ue
https://dl.doubtnut.com/l/_D7oHSc9JVFdz
https://dl.doubtnut.com/l/_BcpJxxx8M2Gn
https://dl.doubtnut.com/l/_iUNNYoGCMhjK

o Watch Video Solution

59. Find /d—"”.
4 + cos?zx

° Watch Video Solution

60. Evaluate : ﬁog(l + :c2)dac.

° Watch Video Solution

61. Evaluate, ﬁog(2 + x2) dx.

° Watch Video Solution

62. Evaluate ﬁog(4 + :1:2) dx.

[ g


https://dl.doubtnut.com/l/_iUNNYoGCMhjK
https://dl.doubtnut.com/l/_dnSqhNWl5SfF
https://dl.doubtnut.com/l/_3fQvcE1lKisF
https://dl.doubtnut.com/l/_LywwaFAsprxC
https://dl.doubtnut.com/l/_okONOCZV37kc

| ° Watch Video Solution

63. Evaluate the following integrals:

/e'” cos 2zdzx

o Watch Video Solution

64. Evaluate the following integrals:

/e”” cos 3zdzx

o Watch Video Solution

65.Find : /e”” cos 4zdz.

o Watch Video Solution



https://dl.doubtnut.com/l/_okONOCZV37kc
https://dl.doubtnut.com/l/_uMGHkzvwEZ7m
https://dl.doubtnut.com/l/_1V6SKS1gQeNC
https://dl.doubtnut.com/l/_39qLmPNKcEr6
https://dl.doubtnut.com/l/_PCXZyZGUX4iP

66. Flnd/ cos 3zdzx.

o Watch Video Solution

67.Find : / cos Txdx

o Watch Video Solution

68F|nd/ cos Txdzx

o Watch Video Solution

69. Flnd/ sin bxdzx.

o Watch Video Solution



https://dl.doubtnut.com/l/_PCXZyZGUX4iP
https://dl.doubtnut.com/l/_6fZkWQORFaFp
https://dl.doubtnut.com/l/_a0PRdWQ2pXId
https://dl.doubtnut.com/l/_zDhCLzrMxWtE
https://dl.doubtnut.com/l/_bYPpUeergegv

70. Evaluate the following cards:

/83‘” cos brdzx

o Watch Video Solution

1
71. Evaluate /e’” sin 'z 4+ —— |dzx.
V1 — z?

o Watch Video Solution

1
72. Evaluate /9”3 cos tx— —— |dz.
V31— 2?2

o Watch Video Solution



https://dl.doubtnut.com/l/_bYPpUeergegv
https://dl.doubtnut.com/l/_kDGhMBUDkwb0
https://dl.doubtnut.com/l/_8Q0qu8WcZ1Ed

73. Evaluate the following integrals:

T -1 1
eltan "z + dx
/ ( 1+:c2>

o Watch Video Solution

74. Evaluate the following integrals:

F( =)
el — — — |dz
T wz

o Watch Video Solution

1
75. Integrate /ax <logx + E)dw.

o Watch Video Solution



https://dl.doubtnut.com/l/_Y7PYNGrJx4ln
https://dl.doubtnut.com/l/_WUsktHVlZHoO
https://dl.doubtnut.com/l/_P9n3RI8WaNrh

241
76.Eva|ua|te:/e’” m—+2 dz.
(z +1)

° Watch Video Solution

x? — 3)6“’

77. Evaluate /( 5
(z + 3)

o Watch Video Solution

x? — 3)e“’

78. Evaluate /( 5
(z —1)

o Watch Video Solution

1 )
79. Evaluate /f” <—+ S )da:
1+ coszx

o Watch Video Solution



https://dl.doubtnut.com/l/_LTlmlChsmacl
https://dl.doubtnut.com/l/_kbGOqdOI6NK6
https://dl.doubtnut.com/l/_0ZeQkVTtbk4s
https://dl.doubtnut.com/l/_2HCPXnjN2K8C

2+ sin2
80.Eva|ua|te:/e”” —+ m— dzx.
1 + cos 2z

° Watch Video Solution

2 in 2
81. Evaluate: /e“’ m dzx.
1+ cos 2z

° Watch Video Solution

82. Evaluate the following integrals:

/ 1 dx
3z2 4+ 13z — 10

o Watch Video Solution

ZT

83. Evaluate :/ T
z2 4+ 3z + 2


https://dl.doubtnut.com/l/_2HCPXnjN2K8C
https://dl.doubtnut.com/l/_vOWtFMlOSVhs
https://dl.doubtnut.com/l/_1LE9owlX7Nbx
https://dl.doubtnut.com/l/_2mcDzia7OR9K
https://dl.doubtnut.com/l/_xX6WdpMBAqsd

o Watch Video Solution

T
84. Evaluate : / de.

x2 4+ 5x +6

o Watch Video Solution

) rdx
85.F|nd/ .
x2 + Tx + 12

o Watch Video Solution

cos zdzx

86. EvaIuate/
1 —sinz)(2 — sinx)

° Watch Video Solution

sinzdzx

87. Evaluate/
(1 —cosz)(2— cosx)


https://dl.doubtnut.com/l/_xX6WdpMBAqsd
https://dl.doubtnut.com/l/_0KmKJ7FBdBA0
https://dl.doubtnut.com/l/_iFvaJCOWmAEj
https://dl.doubtnut.com/l/_dXv5ZNfoCYSL
https://dl.doubtnut.com/l/_zASaJ2hXvYf1

o Watch Video Solution

sin 2
88. Evaluate : il dx.
(1 — cos2z)(2 — cos 2x)

o Watch Video Solution

89.Eva|uate:/;i—w.
hsin“xz — 1

o Watch Video Solution

Tdx
90. Evaluate : /—
z(xz? — 1)

° Watch Video Solution

1
o1. EvaIuate/ dzx
1 —5cos?zx


https://dl.doubtnut.com/l/_zASaJ2hXvYf1
https://dl.doubtnut.com/l/_7OiFCzYvqT3A
https://dl.doubtnut.com/l/_MP0irm3t23XE
https://dl.doubtnut.com/l/_44O7csU2sdiT
https://dl.doubtnut.com/l/_3rO4ZkCnmpYH

o Watch Video Solution

d
92, Evaluate /—:c dx

5sin’z — 4

° Watch Video Solution

2
93. Evaluate dx
/(1 +z)(1 + z2)

o Watch Video Solution

8
94, Evaluate/ dx
(z + 2)(z2 + 4)

° Watch Video Solution

95. Evaluate : /(1 — :133)d:c.


https://dl.doubtnut.com/l/_3rO4ZkCnmpYH
https://dl.doubtnut.com/l/_0l8tnRp4t7fl
https://dl.doubtnut.com/l/_OeFcbVYPGNV0
https://dl.doubtnut.com/l/_lBG6gISd5G2p
https://dl.doubtnut.com/l/_sVfjab0i0CGm

o Watch Video Solution

d
96. EvaIuate/ T
x3 —1

o Watch Video Solution

dzx.

2z
97. Evalualte :/
x3 —1

o Watch Video Solution

98. Evaluate : / dzx.

3 +1

o Watch Video Solution

99. Evaluate / - dz
1+ sinz + coszx


https://dl.doubtnut.com/l/_sVfjab0i0CGm
https://dl.doubtnut.com/l/_JOb43IBpff5o
https://dl.doubtnut.com/l/_YbqP7VS8ffld
https://dl.doubtnut.com/l/_f3L0zOXQBqnm
https://dl.doubtnut.com/l/_15XPQgUXBt2J

o Watch Video Solution

d
100. Evaluate/ . v
1 —sinxz + coszx

o Watch Video Solution

Questions Carrying 1 Mark Type |

1. The anti-derivative of %% is equal to :

C.O0

D. None of these


https://dl.doubtnut.com/l/_15XPQgUXBt2J
https://dl.doubtnut.com/l/_XOFFSgv9SOrh
https://dl.doubtnut.com/l/_9a6NRmN1uwUc

Answer: B

o Watch Video Solution

2. The anti derivative of cos 3x is equal to :

A.3sin3x

B. —sin 3z
3

C.0

D. None of these

Answer: D

° Watch Video Solution

3. The anti derivative of sin 4x is equal to :


https://dl.doubtnut.com/l/_9a6NRmN1uwUc
https://dl.doubtnut.com/l/_T3pQKPskBUi9
https://dl.doubtnut.com/l/_agkzHsiSc2PQ

A.4cosdx
B. _Tcos 4z

C.0

D. None of these

Answer: A

o Watch Video Solution

4. /(cosx — sinz)dz is equal to :

A.sinx +cosx + ¢
B.sinz —cosx + ¢
C.cosx —sinzx + ¢

D.tanxz + c


https://dl.doubtnut.com/l/_agkzHsiSc2PQ
https://dl.doubtnut.com/l/_pagrBmUIUXsz

Answer: C

o Watch Video Solution

5./(sina: — cos z)dz is equal to :

A.cosz + sinx + ¢
B.—cosxz —sinx + ¢
C.cosx —sinx + ¢

D.sinxz —cosx + ¢

Answer: C

° Watch Video Solution

sin2x — cos? z .
6. dx is equal to :

. 2 )
Sln I COos“ T


https://dl.doubtnut.com/l/_pagrBmUIUXsz
https://dl.doubtnut.com/l/_3EIUP8xwOS54
https://dl.doubtnut.com/l/_IwQwDRTBQ4oM

A.tanz +cotx + C

B.tanx + cosecx + C

C.—tanxz +cotz + C

D.tanx + secx + C

Answer: C

o Watch Video Solution

7.If (i)f(a:) = 4z% — 3 such that f(2) = 0.Then f(z) is
dx z?
., 1 129
Az Py B
B. x> + i g
x* 8
L, 1 129
Cz" + ? 8
, 1129
D.z° + — — —/—


https://dl.doubtnut.com/l/_IwQwDRTBQ4oM
https://dl.doubtnut.com/l/_hmnUhljIfwQI

Answer: C

o Watch Video Solution

8. /2”3 dx is equal to :

A2 +¢c

B.2%log? + ¢

T

C. +c

log 2

D. None of these

Answer: C

° Watch Video Solution

9, ﬁm dx is equal to :


https://dl.doubtnut.com/l/_hmnUhljIfwQI
https://dl.doubtnut.com/l/_j83wh5Wpb7XM
https://dl.doubtnut.com/l/_8fqMff9W93J1

A3 +e

B.3"log3 + ¢

T

C

"Togs ¢

D. None of these

Answer: C

o Watch Video Solution

1 :
10. /2:(: m 3d:z: is equal to :

A.log|2x + 3| + ¢

B.2log|2z + 3| + ¢

log|2x + 3|
C. — 5 +c

D. None of these


https://dl.doubtnut.com/l/_8fqMff9W93J1
https://dl.doubtnut.com/l/_U50KP7JKmSEb

Answer: C

o Watch Video Solution

1
1. i | to :
/2x+5da: is equal to

A.log|2z + 5| + ¢

B.log|2z — 5| + ¢

log|2x + 5
c gl |
2
—log|2x + 5
o, gl 2 |

Answer: C

° Watch Video Solution

10z + 10" log, 10
12./ dx is equal to:

z10 + 10"


https://dl.doubtnut.com/l/_U50KP7JKmSEb
https://dl.doubtnut.com/l/_ENnrP8N6rTmm
https://dl.doubtnut.com/l/_U5VPby9uM7zI

A.log|z' + 107| + ¢
B.10% + 10'° 4 ¢
C.10* — z'% + ¢

D. (1()5c — aclo) ! +c

Answer: A

o Watch Video Solution

f

A. log’ac7 - 7$’ +c

B.7" +z 4+ ¢


https://dl.doubtnut.com/l/_U5VPby9uM7zI
https://dl.doubtnut.com/l/_SfBpp1r2tgbo

Answer: A

o Watch Video Solution

o e’ (1 + z)
14. Evaluate the following integrals : /—dm
cos?(ze®)

A. —cot(ex”) + C
B. tan(ze”) 4+ C
C.tan(e”) + C

D.cot(e”) + C

Answer: B

o Watch Video Solution

de |
15. /— is equal to :
V1-—2?


https://dl.doubtnut.com/l/_SfBpp1r2tgbo
https://dl.doubtnut.com/l/_FHQlccwHozBn
https://dl.doubtnut.com/l/_5S3iGWUuC3AZ

Atan 'z + ¢

B.sin” "z + ¢

C. cos_lm +c

D. cot_lac +c
Answer: B

o Watch Video Solution

d
16./ T s equal to :
1+ 22

o Watch Video Solution

d
17. Choose the correct answer: /—aj equals:
V9 — 4z

1 9z — 8
A.asin_1< 338 )—l—C


https://dl.doubtnut.com/l/_5S3iGWUuC3AZ
https://dl.doubtnut.com/l/_8DkI4382EPWb
https://dl.doubtnut.com/l/_Xlij5hzlvu5T

Answer: B

o Watch Video Solution

d
18. /—w is equal to:

A.tan~1(e®) + C
B.tan (e~ ") + C
C.log(e® — e~ ") + C

D. log(ef” + e_””) +C

Answer: A



https://dl.doubtnut.com/l/_Xlij5hzlvu5T
https://dl.doubtnut.com/l/_SsFoNuimuARn

| ° Watch Video Solution

19. Choose the correct answer: /\/1 + 2%dz is equal to:

1
AL 1—|—x2+§10g‘(w+\/1+a:2)+0

2

2 3

2 3

%\/14—:): wlog(az—k\/l—l—az(—i—(;’

Answer: A

° Watch Video Solution

20. /em(f(a:) + f’(x))dz is equal to :

A.e’f(z) +c


https://dl.doubtnut.com/l/_SsFoNuimuARn
https://dl.doubtnut.com/l/_Tc9aWemYSbNp
https://dl.doubtnut.com/l/_mP6ghisSGXBI

B.e"f'(x) + ¢
C.e + f(z) +¢

D. None of these

Answer: A

o Watch Video Solution

1
21. /ew (loga: - ;)dm is equal to :

Ae® +ec
B.e“logx + ¢
e
C—+c
x

D.logx + ¢

Answer: B


https://dl.doubtnut.com/l/_mP6ghisSGXBI
https://dl.doubtnut.com/l/_FcuoeUnT1RDh

° Watch Video Solution

22, /e"”(cot x + logsinx)dz is equal to :

Ae“cotx + ¢
B.e"logsinz + ¢
C.e®* +cotz +c

D. None of these

Answer: B

o Watch Video Solution

23. Choose the correct answer: /em secz(1l + tanz)dz equals :

A.efcosx +C


https://dl.doubtnut.com/l/_FcuoeUnT1RDh
https://dl.doubtnut.com/l/_uaxqOwOTgsAW
https://dl.doubtnut.com/l/_GQBJwhz2RYNo

B.e*secx + C

C.e*sinz +C

D.e*tanx + C

Answer: B

o Watch Video Solution

24, /d—w equals :
z(xz? + 1)

1 2
A log|x| — Elog(w +1) +C
1 2
B.log|z| + slog(z® + 1) + C
2
! 2
C. —log|z| + Elog(:c +1) +C

1 2
D. Elog|:c| +log(z® +1) + C

Answer: A



https://dl.doubtnut.com/l/_GQBJwhz2RYNo
https://dl.doubtnut.com/l/_eqBQokL4K1Cq

o Watch Video Solution

25. /e”(cosw —sinz)dz =

A.e“cosx +c
B.esinx + ¢
C.—e®cosx + c

D.—€e*sinz + ¢

Answer: A

° Watch Video Solution

26. Evaluate

/ dzx
sin® x cos?



https://dl.doubtnut.com/l/_eqBQokL4K1Cq
https://dl.doubtnut.com/l/_lH22BYzEsprG
https://dl.doubtnut.com/l/_kPqwaHKq2P78

A.tanx 4+ cot + ¢
B. (tanz + cot z)® + ¢
C.tanxz — cot + ¢

D. (tanz — cot)® + ¢

Answer: C

o Watch Video Solution

4e* +6e” " o 2z
27.If /gem - dz = Az = + Blog, (e 4) + C, then

A.a:%,b:%
B.a:%,b:%
C.a= —%,b—%
Da:%,b: —%



https://dl.doubtnut.com/l/_kPqwaHKq2P78
https://dl.doubtnut.com/l/_hpmFjEoeOOpz

Answer: C

o Watch Video Solution

0s 2 — coS 2«

c
28.integrate / dx
COS & — COS &

A 2(sinz + z cosh) + ¢
B.2(sinz — x cosf) + ¢
C.2(sinz 4 2z cosb) + ¢

D.2(sinz — 2z cos ) + ¢

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hpmFjEoeOOpz
https://dl.doubtnut.com/l/_Bzvd3nRvdZAC

29. Integrate the following functions

/sin(w — a)lsin(w — b) 4

sin(z — b)
A.sin(b — a)log| ——— | + ¢
sin(z — a)
sin(z — a)
B.cosec(b — a)log| —— | + ¢
sin(z — b)
sin(z — b)
C.cosec(b — a)logl — | + ¢
sin(x — a)
. sin(z — a)
D.sin(b — a)log| ———=| + ¢
sin(x — b)

Answer: C

o Watch Video Solution

30. ftan"',/zdz is equal to

A (z+ 1tan 'z — /z +c
B.ztan 'z — \/z + ¢


https://dl.doubtnut.com/l/_jNoMYizXd0nr
https://dl.doubtnut.com/l/_mQMVjCpIqDy7

C.ﬁ—wtan_lﬁ+c
D./z — (z+ 1)tan™' \/Z + ¢

Answer: A

° Watch Video Solution

2
]__
31./6%(1+ ‘”2) dx is equal to
xr

ew

A. +c
1+ 22

Z

B.
1+ 2
eZE
C.—2+C

(1+ z2)

(1 +2?)

+c

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mQMVjCpIqDy7
https://dl.doubtnut.com/l/_7xczeVo1TUvn

Answer: D

o Watch Video Solution

33.

d 1
/ 2 :alog‘l—i—azz‘+btan_1w—|——log|a:—|—2\—i—c
(z + 2 5

)(xz? + 1)
, then

If


https://dl.doubtnut.com/l/_7xczeVo1TUvn
https://dl.doubtnut.com/l/_VcjW6woWjpe4
https://dl.doubtnut.com/l/_1hzH7jzYErFX

Aa = _ L b= 22
10’ 5
Bazi b= —E
10’ 5
C.a = _ L b:E
10’ 5
Da:i b:3
10’ 5
Answer: C

o Watch Video Solution

23
34. /:1: 1 is equal to

2 3

T

A — 4+ — —log|1 —

T+ o 3 og|]l—z|+c¢
2 .3

: — 4+ — -1 —

Bw—i—2—|—3 og|l —z| +c
z? 8
z?  xd

D.m—7+?—log|1+a}|+c


https://dl.doubtnut.com/l/_1hzH7jzYErFX
https://dl.doubtnut.com/l/_sZOjG9yMxpB1

Answer: D

o Watch Video Solution

T + sinx )
35. /—dw is equal to
1+ cosz

A.log|l + cosz| + ¢

B.log|z + sinz| + ¢
T

Cz— tanE +c

x
D.a:-tani—l—c

Answer: D

° Watch Video Solution

z3dz 3
36. If/— = a(l + xz) 2 4+ by/1+ x% + ¢, then
V1+ 22

1+ x22


https://dl.doubtnut.com/l/_sZOjG9yMxpB1
https://dl.doubtnut.com/l/_1AEolErpmIUT
https://dl.doubtnut.com/l/_mHmWctGBGbNP

AazE,bzl

B.a = —l b=1
3

C.a= —l b= —1
3

D.a:1 b= -1

3
Answer: D

o Watch Video Solution

Questions Carrying 1 Mark Type li

1. Choose the correct answer : The anti derivative of

(ﬁ+ (%)) equals.

° Watch Video Solution



https://dl.doubtnut.com/l/_mHmWctGBGbNP
https://dl.doubtnut.com/l/_OZ1TOoYXber7
https://dl.doubtnut.com/l/_f8ICbUKdFBkr

2. /(sin:n + cos z)dz is equal to :

° Watch Video Solution

3. Evaluate

/ dzx
sin® z cos2

o Watch Video Solution

1
4./233 n 5da: is equal to :

° Watch Video Solution

1
5. /23: n 7dm is equal to :

° Watch Video Solution



https://dl.doubtnut.com/l/_f8ICbUKdFBkr
https://dl.doubtnut.com/l/_NJv2n1OWE4lZ
https://dl.doubtnut.com/l/_hOmXbS8PQMiS
https://dl.doubtnut.com/l/_xJIjoqf7chbf

6 /8:c7 + 8" log, 8
. z8 + 8°

o Watch Video Solution

7. /sec4 x tanx dx equals :

o Watch Video Solution

2
8/(( oS 2T )2)da:isequalto:
sInx + cosx

° Watch Video Solution

9./ dz is equal to:
a:( z? — 1)



https://dl.doubtnut.com/l/_xJIjoqf7chbf
https://dl.doubtnut.com/l/_8w3JFK6h3WQk
https://dl.doubtnut.com/l/_DI4lpzzivoLu
https://dl.doubtnut.com/l/_xAW05MHNe4wg
https://dl.doubtnut.com/l/_ctfuv6bDrSTS

[ & Watch Video Solution

d
10./ 2 equals :
z2 + 2z + 2

o Watch Video Solution

1 1
11. Evaluate /91’ (— — —>d:z:.
x x2

° Watch Video Solution

12, /e‘”(tan:c + logsecx)dx is equal to :

° Watch Video Solution

13. /e””(sin:p — cosx) dx is equal to :

[ -


https://dl.doubtnut.com/l/_ctfuv6bDrSTS
https://dl.doubtnut.com/l/_EOBhTBkevz9o
https://dl.doubtnut.com/l/_Nqem03YUqV5b
https://dl.doubtnut.com/l/_4UUhSTBXtmyh
https://dl.doubtnut.com/l/_BdhHyvI7vepC

| o Watch Video Solution

14, /(sin:c + cos x)dz is equal to :

o Watch Video Solution

1
15. Je” r + —— |dz is equal to:
/(\/_ 2\/E> q

o Watch Video Solution

xdx
16. /(a: YO equals :

° Watch Video Solution

. 6
sin’ x

17./ 2 dr = .. )
cos® x


https://dl.doubtnut.com/l/_BdhHyvI7vepC
https://dl.doubtnut.com/l/_xtFxzkndCIrL
https://dl.doubtnut.com/l/_ZiNb5ANC8p8L
https://dl.doubtnut.com/l/_Zj73KUwl2RYE
https://dl.doubtnut.com/l/_PUOUVWOs7vVy

o Watch Video Solution

3
18. /L2ewdx T e )
(z + 4)

o Watch Video Solution

sinx
19. / dT = ... .
3+ 4cos?x

o Watch Video Solution

Questions Carrying 1 Mark Type lii

d ,
1 %/f(m)d:c ~ (a).

° Watch Video Solution



https://dl.doubtnut.com/l/_PUOUVWOs7vVy
https://dl.doubtnut.com/l/_6ajciFQV42T0
https://dl.doubtnut.com/l/_n2H0Y776l0DY
https://dl.doubtnut.com/l/_b3oBfnCF3T4e

2.The processes of differentation and integration are inverse of

each other.

o Watch Video Solution

3. Two indefinite integrals with the same derivative are not

equivalent.

o Watch Video Solution

4, check whether is correct

ﬁf(w) + g(z)]dz = /f(:c)d:n + /g(a:)da:

° Watch Video Solution



https://dl.doubtnut.com/l/_BLzv0iA98z06
https://dl.doubtnut.com/l/_DUaRAth9srjW
https://dl.doubtnut.com/l/_cOWL1xLY6YrO

5. Prove that for any positive integer

sin 2kx

k, = 2[cosx + cos 3z + + cos(2k — 1)z].

sinx

s
2

0
Hence, prove that/ sin 2zk cot zdxr = 5
0

o Watch Video Solution

6. All functions are integrable.

o Watch Video Solution

7.The integral of a function, when it exists, is not unique.

o Watch Video Solution

8.Integral at a point is not defined.


https://dl.doubtnut.com/l/_TnWADpflcOeQ
https://dl.doubtnut.com/l/_ivXxBkCqH96W
https://dl.doubtnut.com/l/_rrlnCIH0NBN1
https://dl.doubtnut.com/l/_6H4iZ2kTuBVQ

o Watch Video Solution

9.Integration is a process involving limits.

o Watch Video Solution

10. The integral is used is calculating the distance traversed

when the velocity at time t is known.

° Watch Video Solution

11. When a polynomial P is integrated, the result is a polynomial

whose degree is 1 more than that of P.

o Watch Video Solution



https://dl.doubtnut.com/l/_6H4iZ2kTuBVQ
https://dl.doubtnut.com/l/_F1KWUVcyzQQP
https://dl.doubtnut.com/l/_M9JAMcacqYhP
https://dl.doubtnut.com/l/_PY6srommDHOT
https://dl.doubtnut.com/l/_EiL4s7z18XQQ

2

12.prove: [ % go =z + sine +
. prove: 1 T cos r = SN T C.

o Watch Video Solution

13. All functions are not integrable.

o Watch Video Solution

14. The integral of a function, when it exists, is not unique.

o Watch Video Solution

15. Integral at a point is not defined.

o Watch Video Solution



https://dl.doubtnut.com/l/_EiL4s7z18XQQ
https://dl.doubtnut.com/l/_nhhb0zD2QHPw
https://dl.doubtnut.com/l/_5bXnDNWhCMMg
https://dl.doubtnut.com/l/_zchgoq2YkmCw
https://dl.doubtnut.com/l/_h65VZPWJqtNr

16. Integration is a process involving limits.

o Watch Video Solution

17. The processes of differentation and integration are inverse of

each other.

° Watch Video Solution

2 + 2sin?
18. prove: /COS T asin @ dr = tanz + c.
cos? x

o Watch Video Solution

Tz +3
19. dx = log|lz + 1| + c
/x2+4m+3 gl |

o Watch Video Solution



https://dl.doubtnut.com/l/_h65VZPWJqtNr
https://dl.doubtnut.com/l/_pVJC2XIlnooF
https://dl.doubtnut.com/l/_nSa5tlaVCM16
https://dl.doubtnut.com/l/_6CM2uvmUf84v

1
20. prove: /—dw = log(logz) + c.
(logz)x

o Watch Video Solution

in(x — a) . .
21.f,—dw = x cosa — sina. log|sinz| + ¢
sin

o Watch Video Solution

22. prove: fnefcdw =(z—1)e" +c

o Watch Video Solution

Questions Carrying 2 Marks


https://dl.doubtnut.com/l/_6CM2uvmUf84v
https://dl.doubtnut.com/l/_UYgpprq1mt7E
https://dl.doubtnut.com/l/_yH8E7NYAyzdg
https://dl.doubtnut.com/l/_kxzQzHVD9BOm

1. Evaluate the following integrals : /(1 —z)\/xdz

o Watch Video Solution

2cosx
2. Evaluate: dz.
3sin“ x

° Watch Video Solution

cos 2x — cos 2
3. Integrate : dz.
COS & — COS &

° Watch Video Solution

. 6 6
.. Sin” x + cos” x
4. Evaluate the following integrals : / 5 dx
sin” z cos? z

o Watch Video Solution



https://dl.doubtnut.com/l/_Og0Gwlu6VbmP
https://dl.doubtnut.com/l/_NZKVvWfrYrek
https://dl.doubtnut.com/l/_lmgCAsvceKG0
https://dl.doubtnut.com/l/_2Y8y5oi5WwBD

2
1

5. Evaluate: /w——i_zd:c
(z + 1)

o Watch Video Solution

6. Find /sin z sin 2z sin 3zdzx.

o Watch Video Solution

. T + cos 6z
7. Evaluate the following integrals : - dx
3x2 + sin 6z

° Watch Video Solution

sinz — x cosx
8. EvaIuate:/ - dx.
z(z + sinx)

° Watch Video Solution



https://dl.doubtnut.com/l/_EFhtgFapxTzE
https://dl.doubtnut.com/l/_XELsIl5WL6bw
https://dl.doubtnut.com/l/_JJl9r6lA362n
https://dl.doubtnut.com/l/_vvxLIOXudNFS

9. Find /Lda:
1+ xtanz

o Watch Video Solution

1
10. Find : / - dx
z3(z® + 1)5

o Watch Video Solution

. 6
11. Find : /sm T dzx.
cos®

o Watch Video Solution

12. Evaluate the following integrals:

/ S5z — 2
dzx
1+ 2z + 3z2

| ° Wiakr~h \NtAdaA CAliikian


https://dl.doubtnut.com/l/_QB7lcJ1GAePV
https://dl.doubtnut.com/l/_4i0jEeaVRI8r
https://dl.doubtnut.com/l/_ZDwoEPpORE7k
https://dl.doubtnut.com/l/_Ost5VejX9uuk

| & YVvdilll VIMGY JVIVGIVIEE

CcoS T
13. Evaluate / dzx.
\/Sin2

r — 2sinx — 3

° Watch Video Solution

14. Evaluate the following integrals:

/ 1 —cosx
dr
cos (1 + cosx)

o Watch Video Solution

o Watch Video Solution



https://dl.doubtnut.com/l/_Ost5VejX9uuk
https://dl.doubtnut.com/l/_tIJZFsrW558R
https://dl.doubtnut.com/l/_CZA7hqv1ug1h
https://dl.doubtnut.com/l/_7JrbDfdWYCnt

sinx — cos T
16. Evaluate : dz.

\/sin 2x

o Watch Video Solution

17. Evaluate / dz
V5 — 4z — 222

o Watch Video Solution

ear:
18. Evaluae/ dzx
Vb — 4er — et

° Watch Video Solution

19. Evaluate the following integrals:
2x + 5
VT — 6z — 22

dx

| o Wiakl .\t daa CcaAliibkiam


https://dl.doubtnut.com/l/_KZE3zASANMX5
https://dl.doubtnut.com/l/_rrmgil8R4tOm
https://dl.doubtnut.com/l/_x31Zfa9woID3
https://dl.doubtnut.com/l/_5i0LwHszSywF

L ¥vdlilll VIUCV JUVIULIVII

20. Evalualte : /(w/ta,nac + 4/cot J:) dx.

° Watch Video Solution

1
21. Evaluate: /Lagdw
(x +1)

o Watch Video Solution

2 _
22.Find [ =32+ 1,

V31— 2z?

o Watch Video Solution

23. Evaluate [13 sin-! zdzx.

[ e


https://dl.doubtnut.com/l/_5i0LwHszSywF
https://dl.doubtnut.com/l/_t77zASP5Am1o
https://dl.doubtnut.com/l/_omlyrp38ulNm
https://dl.doubtnut.com/l/_Ls2OwHTkLVeV
https://dl.doubtnut.com/l/_MkwW6ChghwP0

| &J Watch Video Solution

1

24.Find /:IZSiIl_ wd
.Find: [——dx
V1 — g2

o Watch Video Solution

z’dx
25. Evaluate 5
(zsinz + cosx)

° Watch Video Solution

Va? + 1[log(z? + 1) — 2logz]

26. Integrate the function:

Tl

o Watch Video Solution



https://dl.doubtnut.com/l/_MkwW6ChghwP0
https://dl.doubtnut.com/l/_Mr1eB0RcSDDz
https://dl.doubtnut.com/l/_RNecvuVLvyqo
https://dl.doubtnut.com/l/_YKIg4RzTWW6F

.1 -1
sin T — COS T
27. Evaluate/ \/_ \/— de.
sin”!'\/Z + cos—1 .z

° Watch Video Solution

28.Find : /62‘” sin(3z + 1)dz.

° Watch Video Solution

z — 4)e”
29, Evaluate : —3dm.
(z —2)

o Watch Video Solution

1 — sin2
30. Evaluate:/ezx o smer dzx.
1 — cos2x

o Watch Video Solution



https://dl.doubtnut.com/l/_SGue8uhdnbCG
https://dl.doubtnut.com/l/_ywF3eK756w0e
https://dl.doubtnut.com/l/_bxMeO7tMIZis
https://dl.doubtnut.com/l/_qCzDhmzHOqYz

indr — 4
31.Eva|uate:/e“’ S T * dzx.
1 — cos4x

o Watch Video Solution

1
32. Evaluate : /{log(log z) + ( 5 ] dz.

o Watch Video Solution

2

1 —
33. Evaluate /—wd:p
z(1 — 2z)

° Watch Video Solution

1
34. Evaluate the following integrals: [———d
valu wing integ /a:(a:3+8) T

| o wAr_ao_L vl ~_ ..


https://dl.doubtnut.com/l/_qCzDhmzHOqYz
https://dl.doubtnut.com/l/_54OfvcbpQ2oO
https://dl.doubtnut.com/l/_HpII8Rz63vmP
https://dl.doubtnut.com/l/_DCILRz74slUa
https://dl.doubtnut.com/l/_hvMt32FETxKR

L vvadilil VIUCO oVIULIOI

Questions Carrying 4 Marks

3
1. Find :/ zdx dzx
xt 4+ 322 +2

o Watch Video Solution

dx
2. Evaluate
S

inx — sin2x

° Watch Video Solution

3.Find : / - dz - .
sinx + sin 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_hvMt32FETxKR
https://dl.doubtnut.com/l/_8sIaySUs97Rx
https://dl.doubtnut.com/l/_AYMng5ofZvjh
https://dl.doubtnut.com/l/_MP9DBQEpUhwQ
https://dl.doubtnut.com/l/_XBmhBwXi3nod

2
4, Evalualte : de.
/(:132 + 1)(z? + 3)

o Watch Video Solution

2

T
5. Evalute : d
vaue/(x2+4)(m2+9) T

o Watch Video Solution

2

6. Evaluate/ z dx
xd + 12 -2

o Watch Video Solution

z2 +1
7. Evaluate: / 5
(z — 1) (z + 3)dx

o Watch Video Solution



https://dl.doubtnut.com/l/_XBmhBwXi3nod
https://dl.doubtnut.com/l/_cYSe26gJ54lX
https://dl.doubtnut.com/l/_fChO093ozmbD
https://dl.doubtnut.com/l/_2jlNNOPTgX4W
https://dl.doubtnut.com/l/_xFG7K2RPjswW

8. Evaluate the following integrals:

/ 2 4+x+1
dzx
(z + 2)(z2 + 1)

0 Watch Video Solution

o 3r +5
9. Evaluate the following integrals: dx
23 —z22—z+1

0 Watch Video Solution

Z

10. Find : /(:13 NP dr

o Watch Video Solution

11. Evaluate the following integrals:

/ 2 4+x+1
dzx
(z + 2)(z2 + 1)



https://dl.doubtnut.com/l/_xFG7K2RPjswW
https://dl.doubtnut.com/l/_ohvqS3SlcwMk
https://dl.doubtnut.com/l/_8nU2wPzwH4iB
https://dl.doubtnut.com/l/_XbsXPJzYveV8

o Watch Video Solution

) 3 — 1
12. Find : dz.
3+

o Watch Video Solution

13. Evaluate the following integrals:

/(ac — 1)33(4::1:2 + 1) da

° Watch Video Solution

dzx
14. Evaluate : T
costr + sin“ =z

o Watch Video Solution



https://dl.doubtnut.com/l/_XbsXPJzYveV8
https://dl.doubtnut.com/l/_u2Pbb50qxt0g
https://dl.doubtnut.com/l/_2z2PyDcvTMbR
https://dl.doubtnut.com/l/_KZ8pwgazPALm

1
15. Evaluate: / dzx
si

n*z + sin®z cos2x + cost z

o Watch Video Solution



https://dl.doubtnut.com/l/_HyJ8H1uvkxWS

